HDCA-OPHI Summer School, Delft 2011

Exercise on standard errors of percentage changes for cross sections

Consider the following point estimates and confidence intervals of the adjusted headcount ratio for

Nigeria in 2003 and 2008.
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For each k cut-off compute:

1. The percentage changes in the adjusted headcount ratio, together with their asymptotic
confidence intervals. For these intervals consider adding and subtracting from the point
estimate swice the standard error. (This gives a confidence interval with about 96% of
confidence). In order to retrieve the standard errors from the table (which are needed in the
asymptotic standard errors’ formula) bear in mind that the table’s confidence intervals have
been produced also by adding/subtracting twice the standard error.



